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Part . Iz
BIOLOGY

Maximum : 60 Scores

Time : 2 Hours
Cool off time : 20 Minutes-
Preparatory time : 5 Minutes

/,Generm Instructions to Candidates :
There is a '‘Cool off time' of 10 minutes each for Botany and Zoology in
addition to the writing time of 1 hour each. Further there is a '5 minutes'

"Preparatory Time' at the end of the Botany Examination and before the

commencement of the Zoology Examination.

You are neither allowed to write your answers nor to discuss anythmg w1th ,
others during the 'cool off time' and 'Preparatory Time'".

Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.

All guestions are compulsory and only internal choice is allowed.

When you select a question, all the sub-guestions must be answered from
the same question itself. :
Calculations, figures and graphs should be shown in the.answer sheet ltself
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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PART - A
BOTANY

Maximum 30 scores

Time: 1 Ho
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Cool off time : 10 Minutes

I

2./

The class of fungi known as
imperfect fungi is .............

a) Ascomycetes

b) Phycomycetes

c) Deuteromycetes

d) Basidiomycetes

Out of the four statements given

below related to respiration, the
correct statements are :

1) Though- respiration has
_ traditionally been considered
‘a catabolic process, it would
be better to consider it as an
amphibolic pathway.

11) In muscles when oxygen is -

inadequate, lactic acid is
reduced to pyruvic acid.

iii)When fats are used in
respiration, the RQ is
greater than one.

© iv) In respiration, the energy of

oxidation-reduction - is

utilized for phosphorylation.
a) i) andii) b) 1) and iii)

_c) i) and iv) d) 1) and iv)
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¢ Complete the given table of algal
and their
characteristics by filling 'a’, b

divisions main
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'c' and 'd". (2) a', ‘b, e, 'd" egymial enclaflal
IQIENGF=ES ' (2)
Chlorophvceae . Chlorophvll-a, b | e (@) e
Phaeophyceae Chlorophvll-a, c
) and ........ @ .......... Laminarin Mannitol
.......... @ Chlorophyll-a, d
. and Phycoerythrin
Mranspiration has more than 4.  ovayemiemomla vy soel @
one purpose in plants. Write any  emMI@  eSIOM  §ERNaBEINS.
one purpose of transpiration in @ucuelecelomslego  B0JEG0Al0,
plants and list any two factors VGV IEMOED  qVIdUlmleeiam
that affect this process. (2) ©6N3) RISHETBRI0 Q) PIMIdb. (2)
Even though more than sixty 5.  @0o®@ ©)S)00 01eidaBd
elements are found in different Qly@y® mauyeBgleoa
plants, all are not essential. &06MeagIgeeamssslae @AOWLRI00
Write any two criteria for the QUIEIBMRES @RISR &0}
essentiality of an elenient. (2) 2381 & a1 OR @Dy OO®
aojaflafleanym oe @OMEBEMLEBWD
)P, (2)
There is a clear division of labour 6. woomemges 18} W BO
~within  the chloroplast. a0 @1 ® > 6m @1 @3 - Qpemaoe]
Substantiate the given HHOEMOQSIMY. 0T (M ®OIM
statement with an explanation ' OB DB, (QENE a3 IMED). (2)
stating two points. (2) @ gEslad
, OR (00 Moy auemaam ealwld
Photosynthesis  can  be - MSHOIM  AVYAlWOM BV -
6nsidered as the most IQUREDM@OQS EEY@OYM®OET.
significant physicochemical 07 (alnimoaim afleiiommes. .
process on earth. Evaluate this (ego@mlego @ (alOWOMmso
statement citing any two auyafioflees)
significances. '
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\'?’// C4 plants have special features.
List out any four specialities of

C, plants compared to C, plants.

8. Apical dominance and bolting

are two  physiological
phenomena shown by plants due
to the activity of two growth

regulators.

. //1) The growtﬁ regulators
concerned are :

a) Apical dominance : ...........

b) Bolting |

' //i) Distinguish between the two

phenomena.

. In a dicotyledonous stem,
secondary growth takes place at
two regions by the activity of two
lateral meristems.

aj) Identify the two lateral

/" meristems.
by List the new tissues formed
¢/ from .  each of these

meristems.

16. a) Due to the presence of a

secondary construction, a
x_/knob'-like‘ small fragment
appears in some
chromesomes called ..........
i) Kinetochore
ii) Histone
11) Satellite
/iv) Chiasmata
J() Classify chromosomes based
on the position of
centromere.
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11. - Observe the diagramatic view of

~a cell cycle and answer the

questions.

11.
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G2I0BYTBUEE) HEMOONLIBYD:.

a) Identify the phase in which

~ DNA synthésis takes place.

b)< Mention any one event that

4‘// takes place in the stages
" marked as 'x' and y'.

12. Two crucial events of aerobic
, \;,éépiration takes place in two
parts of mitochondria. Locate

the two parts and mention the
two events in one or two

sentences each.
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- fixation.

In most of the plants, roots are
meant for absorption and

But there are
exceptions to these functions.
Justify the statement citing at

least three examples.
OR

The main functicn of most of the

stems is spreading out branches,

bearing leaves, flowers and

fruits and the conduc‘tion of
materiaié.

But there are exceptions to this,
Justify the statement citing. at

least three examples.

(3)
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PART - B
ZOOLOGY
Time : 1 Hour -
Maximum : 30 scores " Cool off time : 10 Minutes
1,/ Complete the table using 1. oywes e@os3emiclenym aigls .
suitable terms. (1) ROWIW  alBEBR  §aieWOounia)
al@lofleess. - | (1)
Common Genus - Species Class | Phylum
Name
atooymoze | - ellmay - o Tlasflony o ecanelo
Man N ‘ Sapiens Mammalia e,
OMPEMIRW ] Lol admy’  ooeeel | e
2} _~Prawns and insects are included 2.  avjeocunijo moﬂvm&'mgo
in the phylum arthropoda while afldomaceligye, ealailmyo-aaiala
they have different habits and- smgle §oanElo EOAEMOCWIINE
b " C HaNwaoen. olaBgies o@meo .
habitats. Justify your answer. - (1) " mp@sdlen. )
/@y. f the head o'fba cockroach is cut 3. QOQ@g@e weeons @O
off, it will be alive for as long as ' poglwoee @OYaIeEa0g0 @OT
one week. Give clarification for lafleoy vy Mlemees  oEmoo
this statement. - (1) MO0 ‘ @
4. The diagram given below is a - 4. mioalld ageferieloosiod alimo
simple epithelium. . AL 06 . '
@ e | e @ e | e
: : : J"WW s iw ° :
4 Np o P
ﬂ Name the part marked as "P" a) allasld "P" ogmswogsq]
in the figure. ' sjoTldlenm @omETlen Gaid
« DL, "
Write one function of a b Qg;i 5 ; -
simple epithelium. (¢3) ) ool Q@%ﬂ@m waied 80}
' ' WA2DO ) FI®Ibs. ’ 1)
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Find the odd one and write the

function.
Neutrophil, Erythrobyte,
" Monocyte, ' Lymphocyte,

- Basophil, Eosinophil.

6.\/Identify the protein structures,

(4) and (B) from the following

figure. .

(1)

/G0 aNeomEm g oEm®IeMm

HOMBOME. - @olof  wdamo

QG)F Y.
mylesoanla, agole@onsmg,
enocemoeemg,  ello6andeemg,

@sTUEr0adlad, @fnmﬂ@monmw’&.

®069 008, ENM ofi@agd
(4) wp (B) @p ceiogldloR opa

0RISMNEROE:

S
7/ The‘ male and female

N7

cockroaches can be identified by

the difference in their

morphological features.
a) Name this phenomenon.

b) Give one external difference

between males and females.

K-41
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@ Observe the figure given below
and answer the questions.

a) Write the namé of the figure.

b) Name the labelled part (4)
and (B). '

¢) Which is the site of formation
of ultrafiltrate?

9. Red muscle fibers have greater
‘ capacity to do work for a
prolonged period, whereas
white muscle fibers suffer from
fatigue after a short work.
Evaluate the statement.
Migures (X) and (Y) are the fish
- of two different classes. Identify
them and differentiaté between
these classes.

(2)

(2)

(2)

8.

10.

‘aflaflo)ormds.
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Bal6)VY . -

b) aflwemlew (A), (B) wges
GalOOY)®)E. ' '

c) GRR(SO0IME(SH HABOEIM@
afofies? (2)
oo  omlel .60ansno)ERes
dldcaimowo ggoall oaigrm@lay
qoUwlenym). @EmIVAOWo OO
omied  SOaneUORRBHS  Eh02l]
Mmoo ¢goell ealgemIon ®em
osflemo @OMIEOISISIM). -
wlanpiiciE1) ) lalmoQUMe @

(2)

X, Y agyordl afi@essdd oeney aly@ymio
KO SlRIes D@ TVYEOBRIEM.
DOIWIOS FoqY ®lelaiclens oo
®OHeRss QIEMIOMVo ag)PIBb:.

(2)

)

11/ Asthma andvemphyséma are two

disorders of the human
respiratory system. Mention
. their causes and symptoms.

K-41
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_Mnaiyze tﬁe graph showing the

activity of an enzyme, influenced
by temperature.

Enzyme activity

|
|12

4 117
af)Mereavo (U EDMO O
®moalmleiwWes - aqujowlmo

myalafleern @oad aidledlons.

- Optimum temperature

Temperature

a) What is meant by optimum
temperature?

b) Why does the en'zyme activity
decline at too low and too
high temperatures?

Ve

% Observe the flowchart and
| answer the guestions given

below.

SA Nodse
-

i

By

AV Node

‘;-

AV Bundle

é

R
Atrial contraction

a) Draw the flowchart correctly.

b) What will happen if the SA
node . is. not working
properly?

K-41
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LN

a) safglao  ®oaimlel  af)mO®d
ag)omoers? '

b) ®oaimlal QUgen @i0Wiewo
BHJS)BHWL0 6.21Q)IeMIOR
o) ReOeqo laludemmo
SO ag)(DOB06ME? (2)

afegoolody  mMidlesllal ®oe%
00500 01EOIM  BIOBITBRLE

HOO0 MEld:)d.

SA emoady

!

AV emoass

1
HOUMEEOWD GHIM(SOB UMD

!

AV snuendlad

:

o) SlW@ B06M(SIBaHM

‘a) aftgo0iods nadlwow dlelwld
QUOQB

D) g ag) emoal dlwow daflaiad -
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' Wx‘ve the following figure.

(ﬁ@ame the figure.

P .
Mabel the parts A, Band D.  (2)

14. @oey esosyEmldleeym  afi@o
dledlae)d.

—B

¢ Sub mucosa
D

b) A wieswyo

E fLumen

a) 00 2li@o af@moem?

B wieswie
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D @pswio Ealo0eime:. (2)
atch columns B and C with 15. em080 B wiaype C oleymesniow
column A (2) emogo A @mymdlal eoidgoalsl ;
@2IRR6) ). (®
A B C
Thyroid { “Insulin 3. Weak Immunity 4.
£OMEOOWAL snadaveflad afles) spamyemig]
Pituitary > Thymosin 4 . Gigantism 7
allqgdl OMEROMIIND 6680Glrvo
Pancreas o Growth hormone - Diabetes mellitus | =
atod@lwom @Ld)om'm“ 8anOERO6M ancmaﬂg%m“ enellgmy M
Thymus Thyroxine § Goitre
£OmDAY ' OB ewoligd
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Mirds are well adapted for

117
16. el es al0&oym @’
flying. Give any three of such : GBI ([ CmB: @OMHIRIMEN3TD
adaptations. (3) ' 6. @orufiad a@@@&}ﬂe%o QeMENC
QOO (3)
OR
S : Gttt
All vertebrates are chordates, ‘
but all chordates are not W& obdSleen RI& 830
vertebrates. . Justify this @@;Qmmgﬁgoaﬁ. Q@v(TT)O((ﬁ &K
statement with an example. eodergsgle OOIRSICEIGISIR.
S {IEOOIMm 80} 9B Madl®o
COOU 10, B
17, a) Prepare a pathway of an 17, a) ®oee @TIFlEnM qU3AIME:d
action by using the following 9ol ol 80y
hint. ‘_ v (udemoedlof  woEm e
[Hint - Recep%r, Motor “cidoniles)es. '
neuron, Afferent neuron, [avgaim:— olaualgd, 6moeg0d
Efferent neuron, Interneuron.~ M08, @oancd MyE0ed,
in the spinal cord, ;Effector an0O@MmyE006H, D Rd-
_ organ.] myle0oem (eamqumad e@obad),
b) Give an example of such an - Da@sd 60dnab.]
-action. ) b) sameamiengs (udemmovl
"OR B0} BTN Af)IIEs. (3)
Compare rods and cones of the wRagiEich
retina based on the following BT @mﬁm’im&m ol etoaiemBod
features. @m0l o’ " sogimalee,
i) Shape ' cooamlomeye eH0eMMlemwio
GOODRYOLSIOT! ) IO,
ii) Type 1) @) e
iii) Ability to detect colour ii) moo ,
e i) coenaes cdeIdaidlwomes
iv) Pigments :
adlal
v) Vision iv) alcSomdd
V) Qflascd
K-41 12 1,95,000




